Sub Item #
40976
66012
66014
66015
66032
66034
66035
66052
66054
66055
66056
66057
66074
66075
66076
66077
66094
66095
66096
66097
66099
A-02978
A-02979
A-02980
A-02981

Kit Item List

Sub Item Description

LARGE PLASTIC 24 SPACE EMPTY STORAGE BIN
#6 X 1/2" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#6 X 3/4" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#6 X 1" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#8 X 1/2" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#8 X 3/4" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#8 X 1" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#10 X 1/2" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#10 X 3/4" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#10 X 1" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#10 X 1-1/4" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#10 X 1-1/2" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#12 X 3/4" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#12 X 1" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#12 X 1-1/4" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
#12 X 1-1/2" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
1/4(#14) X 3/4" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
1/4"(#14) X 1" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
1/4"(#14) X 1-1/4" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
1/4"(#14) X 1-1/2" SLOTTED HEX WASHER HEAD S/M/S ZINC PLATED
1/4"(#14) X 2" HEX WASHER HEAD SLOTTED S/M/S ZINC PLATED
5/16 X 3/4 IND. HEX WASHER HEAD TAP SCREW ZINC

5/16 X 1 IND. HEX WASHER HEAD TAP SCREW ZINC

5/16 X 1 1/4 IND. HEX WASHER HEAD TAP SCREW ZINC

5/16" X 1-1/2" HEX WASHER HEAD S/M/S SCREW ZINC PLATED

Quantity
1
50
50
40
50
50
40
40
40
40
30
30
40
30
25
25
30
25
20
20
15
15
15
10
10



